## **Tabulation of Bids**

Awarded to:

McCabe Construction, Inc.
PO Box 1769
Eau Claire, WI 54702

Date Awarded:

(includes Base Bid
Alternates)

10/07/24

\$3,797,743.80

	Project Manag	er: Evan Krueger	Consultant:	Becher-Hoppe
State of Wisconsin	Airport:	John F. Kennedy Memorial Airport	Bid Date:	5/24/2024
Department of Transportation	Project:	ASX1003   AIP-12	Bid Time:	2:00 P.M.
Bureau of Aeronautics	Bid for:	Runway 02/20 Rehabilitation and Taxiway Relocation	DBE Goals:	1.30%

Alternate 1: F Alternate 2: A Alternate 3: T	DN: Inway 02/20 Rehabilitation Runway 02/20 Lighting Replacement Airport Owned NAVAIDs Improvements Faxiway Relocation Faxiway Lighting Installation			PO Bo	struction, Inc. ox 1769 o, WI 54702	610 Industri	ods Paving al Park Road WI 54806	Nothern Interstate Constructi 7835 Bayfield Road South Range, WI 54874	
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
205.01	EXCAVATION COMMON	2,950	CY	\$16.00	\$47,200.00	\$20.69	\$61,035.50	\$8.00	\$23,600.00
208.0100X	BORROW (UNDISTRIBUTED)	9,400	CY	\$26.00	\$244,400.00	\$19.00	\$178,600.00	\$16.00	\$150,400.00
209.11	GRANULAR BACKFILL GRADE 1	120	CY	\$26.50	\$3,180.00	\$28.00	\$3,360.00	\$18.00	\$2,160.00
305.0120X	BASE AGGREGATE DENSE 1 1/4" (UNDISTRIBUTED)	2,600	TON	\$22.00	\$57,200.00	\$36.67	\$95,342.00	\$16.00	\$41,600.00
325.01	PULVERIZE AND RELAY	62,250	SY	\$1.50	\$93,375.00	\$4.36	\$271,410.00	\$2.25	\$140,062.50
455.0605	TACK COAT	4,400	GAL	\$4.35	\$19,140.00	\$4.18	\$18,392.00	\$4.18	\$18,392.00
460.2000	INCENTIVE DENSITY HMA PAVEMENT	11,680	DOL	\$1.00	\$11,680.00	\$1.00	\$11,680.00	\$1.00	\$11,680.00
460.6243	HMA PAVEMENT 3MT 58-34 S	8,250	TON	\$99.29	\$819,142.50	\$95.48	\$787,710.00	\$95.48	\$787,710.00
460.6444	HMA PAVEMENT 4MT 58-34 H	6,350	TON	\$103.24	\$655,574.00	\$99.28	\$630,428.00	\$95.28	\$605,028.00
522.2414	CULVERT PIPE REINFORCED CONCRETE HORIZONTAL ELLIPTICAL CLASS HE-IV 14X32-	152	LF	\$125.00	\$19,000.00	\$160.00	\$24,320.00	\$150.00	\$22,800.00
522.1018	ELLIPTICAL CLASS HE-IV 14X32- APRON ENDWALLS FOR CULVERT PIPE REINFORCED CONCRETE HORIZONTAL ELLIPTICAL 14X32-	2	EA	\$1,310.00	\$2,620.00	\$1,800.00	\$3,600.00	\$2,500.00	\$5,000.00
625.0500	SALVAGED TOPSOIL	66,250	SY	\$1.30	\$86,125.00	\$2.00	\$132,500.00	\$2.40	\$159,000.00
627.0200	MULCHING, METHOD B (WOOD FIBER)	66,250	SY	\$0.51	\$33,787.50	\$0.49	\$32,462.50	\$1.60	\$106,000.00
628.1104	EROSION BALES	56	EA	\$20.80	\$1,164.80	\$20.00	\$1,120.00	\$50.00	\$2,800.00
628.1504	SILT FENCE (UNDISTRIBUTED)	12,000	LF	\$1.89	\$22,680.00	\$1.82	\$21,840.00	\$2.00	\$24,000.00
628.1520	SILT FENCE MAINTENANCE	12,000	LF	\$0.01	\$120.00	\$0.01	\$120.00	\$0.25	\$3,000.00

Alternate 1: F Alternate 2: A Alternate 3: T	ON: Inway 02/20 Rehabilitation Runway 02/20 Lighting Replacement Airport Owned NAVAIDs Improvements Faxiway Relocation Faxiway Lighting Installation			PO Bo	struction, Inc. ox 1769 o, WI 54702	610 Industrial Park Road Ashland, WI 54806  7835 Bayfield Road South Range, WI 54874		yfield Road	
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
628.1905	MOBILIZATIONS EROSION CONTROL	2	EA	\$1,893.61	\$3,787.22	\$1,821.00	\$3,642.00	\$250.00	\$500.00
628.1910	MOBILIZATIONS EMERGENCY EROSION CONTROL	2	EA	\$207.97	\$415.94	\$200.00	\$400.00	\$500.00	\$1,000.00
628.2006	EROSION MAT URBAN CLASS I, TYPE A (UNDISTRIBUTED)	10,000	SY	\$1.66	\$16,600.00	\$1.60	\$16,000.00	\$3.00	\$30,000.00
628.7010	INLET PROTECTION TYPE B	2	EA	\$51.99	\$103.98	\$50.00	\$100.00	\$150.00	\$300.00
628.7504	TEMPORARY DITCH CHECKS	1,000	LF	\$7.07	\$7,070.00	\$6.80	\$6,800.00	\$9.00	\$9,000.00
628.7555	CULVERT PIPE CHECKS	10	EA	\$20.80	\$208.00	\$20.00	\$200.00	\$150.00	\$1,500.00
628.7560	TRACKING PAD	1	EA	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$3,250.00	\$3,250.00
629.0200	FERTILIZER TYPE B	43	CWT	\$103.47	\$4,449.21	\$99.50	\$4,278.50	\$80.00	\$3,440.00
630.0140	SEEDING MIXTURE NO.40	1,300	LB	\$9.05	\$11,765.00	\$8.70	\$11,310.00	\$15.00	\$19,500.00
630.0200	SEEDING TEMPORARY	1,850	LB	\$3.12	\$5,772.00	\$3.00	\$5,550.00	\$5.00	\$9,250.00
630.0500	SEED WATER	8	MGAL	\$77.99	\$623.92	\$75.00	\$600.00	\$50.00	\$400.00
642.5001	FIELD OFFICE TYPE B	1	EA	\$7,500.00	\$7,500.00	\$12,200.00	\$12,200.00	\$12,500.00	\$12,500.00
645. 0111	GEOTEXTILE, TYPE DF SCHEDULE A (UNDISTRIBUTED)	500	SY	\$2.00	\$1,000.00	\$2.00	\$1,000.00	\$2.10	\$1,050.00
690.015	SAWING ASPHALT	300	LF	\$1.87	\$561.00	\$1.80	\$540.00	\$10.00	\$3,000.00
C105.010	MOBILIZATION - LIMITED TO 10% OF BID ALTERNATE COST	1	LS	\$238,000.00	\$238,000.00	\$247,578.30	\$247,578.30	\$250,000.00	\$250,000.00
L108.101	LOCATE AND PROTECT EXISTING CIRCUITS	1	LS	\$1,680.43	\$1,680.43	\$1,600.00	\$1,600.00	\$2,500.00	\$2,500.00
P159.010	SITE FINISHING	1	LS	\$5,000.00	\$5,000.00	\$43,873.66	\$43,873.66	\$25,000.00	\$25,000.00
P620.111	PAINTING, WHITE, WATERBORNE, TYPE I	19,100	SF	\$0.98	\$18,718.00	\$0.94	\$17,954.00	\$20.00	\$382,000.00
P620.311	PAINTING, YELLOW, WATERBORNE, TYPE I	1,100	SF	\$0.98	\$1,078.00	\$0.94	\$1,034.00	\$25.00	\$27,500.00
P620.710	REFLECTIVE MEDIA, TYPE I, GRADATION A	1,400	LB	\$0.68	\$952.00	\$0.65	\$910.00	\$100.00	\$140,000.00
P643.010	AIRPORT CONSTRUCTION TRAFFIC CONTROL	1	LS	\$55,000.00	\$55,000.00	\$69,199.17	\$69,199.17	\$75,000.00	\$75,000.00
P646.010	MAINTENANCE AND REPAIR OF HAUL ROADS	1	LS	\$32,000.00	\$32,000.00	\$13,762.00	\$13,762.00	\$50,000.00	\$50,000.00

Alternate 1: F Alternate 2: A Alternate 3: T	ON: nway 02/20 Rehabilitation Runway 02/20 Lighting Replacement Airport Owned NAVAIDs Improvements Faxiway Relocation Faxiway Lighting Installation			PO Bo	estruction, Inc. ox 1769 e, WI 54702	610 Industri	ods Paving ial Park Road WI 54806	Nothern Interstate Construction 7835 Bayfield Road South Range, WI 54874	
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
P646.020	MAINTENANCE AND REPAIR OF AIRPORT HAUL ROADS	1	LS	\$12,250.00	\$12,250.00	\$26,312.75	\$26,312.75	\$5,000.00	\$5,000.00
FAA11051 NON-ENCASED, ELECTRICAL DUCT BANK, TYPE III, 3-WAY, 3-INCH 85 LF		\$50.41	\$4,284.85	\$48.00	\$4,080.00	\$48.00	\$4,080.00		
Base Bid T	Base Bid Total				\$2,546,708.35		\$2,764,344.38		\$3,159,002.50

Alternate #1: Runway 02/20 Lighting Replacement Bid Item Description Unit Unit Price Total Unit Price Total Unit Price Total Quantity MOBILIZATION - LIMITED TO 10% C105.010(1) 1 LS \$25,626.59 \$25,626.59 \$27,327.50 \$27,327.50 \$50,000.00 \$50,000.00 OF BID ALTERNATE COST LOCATE AND PROTECT EXISTING L108.101(1) 1 LS \$1,680.43 \$1,680.43 \$1,600.00 \$1,600.00 \$1,600.00 \$1,600.00 UTILITIES X125.690(1) AIRFIELD CIRCUIT MODIFICATIONS 1 LS \$5,461.40 \$5,461.40 \$5,200.00 \$5,200.00 \$5,200.00 \$5,200.00 FAA10843(1) COUNTERPOISE GROUND ROD \$290.92 \$277.00 28 EΑ \$8,145.76 \$7,756.00 \$277.00 \$7,756.00 NO. 8 AWG, 5KV, L-824, TYPE C FAA10852(1) 12.600 LF \$1.81 \$22,806.00 \$1.72 \$21,672.00 \$1.72 \$21,672.00 CABLE NO. 2 AWG, SOLID, BARE COPPER 10,950 LF FAA10853(1) \$3.36 \$36,792.00 \$3.20 \$35,040.00 \$3.20 \$35,040.00 COUNTERPOISE WIRE NO. 6 AWG, INSULATED 11,850 LF \$1.96 \$23,226.00 \$1.87 \$1.87 FAA10854(1) STRANDED EQUIPMENT BONDING \$22,159.50 \$22,159.50 GROUND \$7,325.64 FAA10856(1) FIELD LIGHTNING ARRESTOR 9 EA \$813.96 \$775.00 \$6,975.00 \$775.00 \$6,975.00 NON-ENCASED, HDPE ELECTRICAL FAA11052(1) 11,850 LF \$4.19 \$49,651.50 \$3.99 \$47,281.50 \$3.99 \$47,281.50 CONDUIT, 1-WAY 1-1/4 INCH MEDIUM INTENSITY RUNWAY FAA12501(1) 50 EA \$2,573.16 \$128,658.00 \$2,450.00 \$122,500.00 \$2,450.00 \$122,500.00 LIGHTS, L-861(L), BASE MOUNTED MEDIUM INTENSITY THRESHOLD FAA12502(1) LIGHTS, L-861SE(L), BASE 16 EA \$2,751.71 \$44,027.36 \$2,620.00 \$41,920.00 \$2,620.00 \$41,920.00 MOUNTED REMOVE RUNWAY OR TAXIWAY EΑ \$40.00 \$2,680.00 FAA12504(1) 67 \$42.01 \$2,814.67 \$40.00 \$2,680.00 STAKE MOUNTED LIGHT LED L-858(L) GUIDANCE SIGN, 2-FAA12506(1) 4 EA \$4,651.65 \$18,606.60 \$4,429.00 \$17,716.00 \$4,429.00 \$17,716.00 MODULE NEW REGULATOR FOR RUNWAY FAA12515(1) 1 EA \$13,674.52 \$13,674.52 \$13,020.00 \$13,020.00 \$13,020.00 \$13,020.00 2/20 CIRCUIT - 7.5 kW VAULT ELECTRICAL SYSTEM AND FAA12517(1) 1 LS \$2,205.57 \$2,205.57 \$2,100.00 \$2,100.00 \$2,100.00 \$2,100.00 **TESTING** SPARE ELECTRICAL EQUIPMENT -FAA12519(1) 1 LS \$7,141.84 \$7,141.84 \$6,800.00 \$6,800.00 \$6,800.00 \$6,800.00 RUNWAY Alternate #1 Total \$397,843.88 \$381,747.50 \$404,420.00

Alternat	e #2: Airport Owned NAVAIDs	s Improven	ent						
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
C105.010(2)	MOBILIZATION - LIMITED TO 10% OF BID ALTERNATE COST	1	LS	\$7,877.03	\$7,877.03	\$12,827.50	\$12,827.50	\$17,500.00	\$17,500.00
L108.101(2)	LOCATE AND PROTECT EXISTING CIRCUITS	1	LS	\$945.24	\$945.24	\$900.00	\$900.00	\$900.00	\$900.00

DESCRIPTION	DESCRIPTION:								
Base Bid: Ru	nway 02/20 Rehabilitation			McCabe Con	struction, Inc.	Northwoo	ds Paving	Nothern Interst	ate Construction
	unway 02/20 Lighting Replacement			PO Bo	x 1769	610 Industri	al Park Road	7835 Bay	field Road
Alternate 2: Airport Owned NAVAIDs Improvements				Eau Claire	, WI 54702	Ashland,	WI 54806	South Rang	e, WI 54874
Alternate 3: Taxiway Relocation									
Alternate 4: T	axiway Lighting Installation								
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
FAA12530(2)	REMOVE REILS AND BASES	1	EA	\$3,360.86	\$3,360.86	\$3,200.00	\$3,200.00	\$3,200.00	\$3,200.00
FAA12531(2)	REMOVE 4 BOX PAPI AND BASES	1	EA	\$5,461.40	\$5,461.40	\$5,200.00	\$5,200.00	\$5,200.00	\$5,200.00
FAA12532(2)	REILS CONSTANT CURRENT L- 849I(L), STYLE A	2	EA	\$22,265.72	\$44,531.44	\$21,200.00	\$42,400.00	\$21,200.00	\$42,400.00
FAA12543(2)	RUNWAY 20 PAPI L-880(L), STYLE B, CLASS II	1	EA	\$61,476.51	\$61,476.51	\$58,534.00	\$58,534.00	\$58,534.00	\$58,534.00
Alternate #2 Total				\$123,652.48		\$123,061.50		\$127,734.00	

Alternate i	#3: Taxiway Relocation								
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
201.0210(3)	GRUBBING	2	SY	\$200.00	\$400.00	\$400.00	\$800.00	\$500.00	\$1,000.00
203.0100(3)	REMOVING SMALL PIPE CULVERTS	3	EA	\$425.00	\$1,275.00	\$500.00	\$1,500.00	\$500.00	\$1,500.00
204.0110(3)	REMOVING ASPHALTIC SURFACE	365	SY	\$5.00	\$1,825.00	\$6.00	\$2,190.00	\$5.00	\$1,825.00
205.0100(3)	EXCAVATION COMMON	4,250	CY	\$16.00	\$68,000.00	\$5.00	\$21,250.00	\$8.00	\$34,000.00
208.0100X(3)	BORROW (UNDISTRUBUTED)	1,900	CY	\$26.00	\$49,400.00	\$1.00	\$1,900.00	\$15.00	\$28,500.00
305.0125X(3)	BASE AGGREGATE DENSE 1 1/4"	1,100	CY	\$42.50	\$46,750.00	\$59.00	\$64,900.00	\$16.00	\$17,600.00
312.0115X(3)	SELECT CRUSHED MATERIAL	2,050	CY	\$39.00	\$79,950.00	\$66.00	\$135,300.00	\$25.00	\$51,250.00
325.0100(3)	PULVERIZE AND RELAY	3,220	SY	\$2.20	\$7,084.00	\$5.05	\$16,261.00	\$1.75	\$5,635.00
455.0605(3)	TACK COAT	350	GAL	\$4.35	\$1,522.50	\$4.18	\$1,463.00	\$4.18	\$1,463.00
460.2000(3)	INCENTIVE DENSITY HMA PAVEMENT	884	DOL	\$1.00	\$884.00	\$1.00	\$884.00	\$1.00	\$884.00
460.6243(3)	HMA PAVEMENT 3MT 58-34 S	620	TON	\$121.69	\$75,447.80	\$117.02	\$72,552.40	\$117.02	\$72,552.40
460.6444(3)	HMA PAVEMENT 4MT 58-34 H	485	TON	\$130.22	\$63,156.70	\$125.23	\$60,736.55	\$125.23	\$60,736.55
522.2314(3)	CULVERT PIPE REINFORCED CONCRETE HORIZONTAL ELLIPTICAL CLASS HE-III 14X32- INCH	48	LF	\$110.00	\$5,280.00	\$142.00	\$6,816.00	\$150.00	\$7,200.00
522.2414(3)	CULVERT PIPE REINFORCED CONCRETE HORIZONTAL ELLIPTICAL CLASS HE-IV 14X32- INCH	272	LF	\$125.00	\$34,000.00	\$160.00	\$43,520.00	\$150.00	\$40,800.00
522.1018(3)	APRON ENDWALLS FOR CULVERT PIPE REINFORCED CONCRETE HORIZONTAL ELLIPTICAL 14X32- INCH	10	EA	\$1,310.00	\$13,100.00	\$1,800.00	\$18,000.00	\$1,800.00	\$18,000.00
606.0200(3)	RIPRAP MEDIUM	15	CY	\$85.00	\$1,275.00	\$100.00	\$1,500.00	\$100.00	\$1,500.00
612.0806(3)	APRON ENDWALLS FOR UNDERDRAIN REINFORCED CONCRETE 6-INCH	4	EA	\$285.00	\$1,140.00	\$350.00	\$1,400.00	\$1,500.00	\$6,000.00

Alternate 1: R Alternate 2: A Alternate 3: T	N: nway 02/20 Rehabilitation dunway 02/20 Lighting Replacement dirport Owned NAVAIDs Improvements daxiway Relocation daxiway Lighting Installation			PO Bo	struction, Inc. x 1769 , WI 54702	Northwoo 610 Industria Ashland,	•	Nothern Interstate Construction 7835 Bayfield Road South Range, WI 54874	
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
625.0500(3)	SALVAGED TOPSOIL	12,600	SY	\$1.50	\$18,900.00	\$1.00	\$12,600.00	\$2.70	\$34,020.00
628.0200(3)	MULCHING, METHOD B (WOOD FIBER)	12,600	SY	\$0.51	\$6,426.00	\$0.49	\$6,174.00	\$1.75	\$22,050.00
628.1504(3)	SILT FENCE (UNDISTRIBUTED)	3,000	LF	\$1.89	\$5,670.00	\$1.82	\$5,460.00	\$2.00	\$6,000.00
628.1520(3)	SILT FENCE MAINTENANCE	3,000	LF	\$0.01	\$30.00	\$0.01	\$30.00	\$0.25	\$750.00
628.1905(3)	MOBILIZATIONS EROSION CONTROL	2	EA	\$1,893.61	\$3,787.22	\$1,821.00	\$3,642.00	\$250.00	\$500.00
628.1910(3)	MOBILIZATIONS EMERGENCY EROSION CONTROL	2	EA	\$207.97	\$415.94	\$200.00	\$400.00	\$500.00	\$1,000.00
628.2002(3)	EROSION MAT URBAN CLASS I TYPE A (UNDISTRIBUTED)	3,200	SY	\$1.66	\$5,312.00	\$1.60	\$5,120.00	\$2.10	\$6,720.00
628.7010(3)	INLET PROTECTION TYPE B	4	EA	\$51.99	\$207.96	\$50.00	\$200.00	\$250.00	\$1,000.00
628.7504(3)	TEMPORARY DITCH CHECKS	500	LF	\$7.07	\$3,535.00	\$6.80	\$3,400.00	\$5.00	\$2,500.00
628.7555(3)	CULVERT PIPE CHECKS	7	EA	\$20.80	\$145.60	\$20.00	\$140.00	\$250.00	\$1,750.00
629.0200(3)	FERTILIZER TYPE B	9	CWT	\$103.47	\$931.23	\$99.50	\$895.50	\$80.00	\$720.00
630.0149(3)	SEEDING MIXTURE NO. 40	250	LB	\$9.05	\$2,262.50	\$8.70	\$2,175.00	\$10.00	\$2,500.00
630.0200(3)	SEEDING TEMPORARY	375	LB	\$3.12	\$1,170.00	\$3.00	\$1,125.00	\$5.00	\$1,875.00
630.0500(3)	SEED WATER	5	MGAL	\$77.99	\$389.95	\$75.00	\$375.00	\$50.00	\$250.00
645. 0111(3)	GEOTEXTILE, TYPE DF SCHEDULE A (UNDISTRIBUTED)	100	SY	\$2.00	\$200.00	\$2.00	\$200.00	\$2.10	\$210.00
645.0120(3)	GEOTEXTILE, TYPE HR	20	SY	\$4.00	\$80.00	\$4.00	\$80.00	\$5.00	\$100.00
645.0140X(3)	GEOTEXTILE, TYPE SAS	9,600	SY	\$1.75	\$16,800.00	\$2.00	\$19,200.00	\$2.35	\$22,560.00
690.0150(3)	SAWING ASPHALT	350	LF	\$1.87	\$654.50	\$1.80	\$630.00	\$10.00	\$3,500.00
C105.010(3)	MOBILIZATION - LIMITED TO 10% OF BID ALTERNATE COST	1	LS	\$22,710.00	\$22,710.00	\$41,309.50	\$41,309.50	\$80,000.00	\$80,000.00
L108.101(3)	LOCATE AND PROTECT EXISTING AND NEW UTILITIES	1	LS	\$1,680.43	\$1,680.43	\$1,600.00	\$1,600.00	\$1,600.00	\$1,600.00
P159.010(3)	SITE FINISHING	1	LS	\$750.00	\$750.00	\$1.00	\$1.00	\$25,000.00	\$25,000.00
P620.311(3)	PAINTING, YELLOW, WATERBORNE, TYPE I	620	SF	\$1.95	\$1,209.00	\$1.88	\$1,165.60	\$20.00	\$12,400.00
P620.710(3)	REFLECTIVE MEDIA, TYPE I, GRADATION A	50	LB	\$0.68	\$34.00	\$0.65	\$32.50	\$100.00	\$5,000.00
P643.010(3)	AIRPORT CONSTRUCTION TRAFFIC CONTROL	1	LS	\$1,000.00	\$1,000.00	\$1.00	\$1.00	\$25,000.00	\$25,000.00
P646.010(3)	MAINTENANCE AND REPAIR OF HAUL ROADS	1	LS	\$0.01	\$0.01	\$1.00	\$1.00	\$35,000.00	\$35,000.00
P646.020(3)	MAINTENANCE AND REPAIR OF AIRPORT HAUL ROADS	1	LS	\$895.00	\$895.00	\$1.00	\$1.00	\$5,000.00	\$5,000.00
X648.015(3)	AIRCRAFT TIE DOWN	1	SET	\$4,388.26	\$4,388.26	\$4,220.00	\$4,220.00	\$5,000.00	\$5,000.00

DESCRIPTION	DN:									
Base Bid: Ru	nway 02/20 Rehabilitation			McCabe Con	struction, Inc.	Northwoo	ds Paving	Nothern Interstate Construction		
Alternate 1: F	Runway 02/20 Lighting Replacement			PO Bo	x 1769	610 Industri	al Park Road	7835 Bay	field Road	
Alternate 2: A	Airport Owned NAVAIDs Improvements			Eau Claire	, WI 54702	Ashland,	WI 54806	South Rang	ge, WI 54874	
Alternate 3: 7	Taxiway Relocation									
Alternate 4: 1	Faxiway Lighting Installation									
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	
FAA70554(3)	PVC PIPE UNDERDRAIN 6-INCH, COMPLETE INCLUDING POROUS BACKFILL NO.2 AND SEPERATION GEOTEXTILE, CLASS 2	1,900	LF	\$22.50	\$42,750.00	\$29.00	\$55,100.00	\$28.00	\$53,200.00	
FAA70555(3)	UNDERDRAIN RISER CLEANOUT	9	EA	\$435.00	\$3,915.00	\$900.00	\$8,100.00	\$500.00	\$4,500.00	
FAA11052(3)	NON-ENCASED, ELECTRICAL DUCT BANK, TYPE III, 5-WAY, 3-INCH	50	LF	\$76.67	\$3,833.50	\$73.00	\$3,650.00	\$73.00	\$3,650.00	
XSP001(3)	REMOVE CONCRETE AIRCRAFT TIE-DOWN	9	EA	\$100.00	\$100.00 \$900.00		\$1,800.00	\$500.00	\$4,500.00	
Alternate #	#3 Total				\$601,473.10		\$629,801.05		\$718,300.95	

Alternate #	4: Taxiway Lighting Installatio	n							
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
C105.010(4)	MOBILIZATION - LIMITED TO 10% OF BID ALTERNATE COST	1	LS	\$7,878.00	\$7,878.00	\$12,827.50	\$12,827.50	\$17,500.00	\$17,500.00
L108.101(4)	LOCATE AND PROTECT EXISTING AND NEW UTILITIES	1	LS	\$1,680.43	\$1,680.43	\$1,600.00	\$1,600.00	\$1,600.00	\$1,600.00
FAA10843(4)	COUNTERPOISE GROUND ROD	7	EA	\$290.92	\$2,036.44	\$277.00	\$1,939.00	\$277.00	\$1,939.00
FAA10852(4)	NO. 8 AWG, 5KV, L-824, TYPE C CABLE	2,650	LF	\$1.81	\$4,796.50	\$1.72	\$4,558.00	\$1.72	\$4,558.00
FAA10853(4)	NO. 2 AWG, SOLID, BARE COPPER COUNTERPOISE WIRE	1,875	LF	\$3.36	\$6,300.00	\$3.20	\$6,000.00	\$3.20	\$6,000.00
FAA10854(4)	NO. 6 AWG, INSULATED STRANDED EQUIPMENT BONDING GROUND	2,650	LF	\$1.96	\$5,194.00	\$1.87	\$4,955.50	\$1.87	\$4,955.50
FAA10856(4)	FIELD LIGHTNING ARRESTOR	2	EA	\$813.96	\$1,627.92	\$775.00	\$1,550.00	\$775.00	\$1,550.00
FAA11052(4)	NON-ENCASED, HDPE ELECTRICAL CONDUIT, 1-WAY 1-1/4 INCH	2,300	LF	\$4.19	\$9,637.00	\$3.99	\$9,177.00	\$3.99	\$9,177.00
FAA12503(4)	MEDIUM INTENSITY TAXIWAY LIGHTS, L-861T(L), BASE MOUNTED	31	EA	\$2,468.13	\$76,512.03	\$2,350.00	\$72,850.00	\$2,350.00	\$72,850.00
FAA12504(4)	REMOVE RUNWAY OR TAXIWAY STAKE MOUNTED LIGHT	11	EA	\$42.01	\$462.11	\$40.00	\$440.00	\$40.00	\$440.00
FAA12506(4)	LED L-858(L) GUIDANCE SIGN, 2- MODULE	1	EA	\$4,568.67	\$4,568.67	\$4,350.00	\$4,350.00	\$4,350.00	\$4,350.00
FAA12508(4)	LED L-858(L) GUIDANCE SIGN, 3- MODULE	1	EA	\$5,146.32	\$5,146.32	\$4,900.00	\$4,900.00	\$4,900.00	\$4,900.00
FAA12519(4)	SPARE ELECTRICAL EQUIPMENT - TAXIWAY	1	LS	\$2,226.57	\$2,226.57	\$2,120.00	\$2,120.00	\$2,120.00	\$2,120.00
Alternate #	#4 Total				\$128,065.99		\$127,267.00		\$131,939.50

Base Bid + Alternate #1 - #4 Total	\$3,797,743.80	\$4,026,221.43	\$4,541,396.95